e
EEAEE

== t-A=t+-A

=2 —EET=F —ETE-F
FET FET
BE
RBEE
Yz - BB RS 16 107,291 120,360
REtE RN a2 s 18 35,581 30,894
sk ol ey — 455
Hitb el GRIE 19 — —
142,872 151,709
RBEE
FEUER X 20 46,630 53,864
JEU ZE 1,655 903
FERFUE -~ e REMRKGRIE 3,768 4,047
FE 21 21,659 32,011
TEETFER 378 368
IRe MIRTTE R 36,601 23,715
110,691 114,908
=N
RBas
JEAT—{I A% ER (Probest ) 2 k1A 23 — 75,457
B A R FOB 24 12,781 8,848
FERFBRIR 25 25,992 20,958
HApfE T RIE R ERE A 17,733 16,313
RENEMD Z FE R R 26 27,027 —
FERTFRIR 847 839
84,380 122,415
REBEE (B FE 26,311 (7,507)
HWEERARBAR 169,183 144,202
kRBEE
JEAT—{Z A% ER (Probest ) 2 k1A 23 43,558 187,500
IEREN D 2 FE AR KRR 26 137,500 —
REIBRIS BB 27 490 712
181,548 188,212
DERRER 47,670 45,932
B8EFE (60,035) (89,942)
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BEITRRA 29 31,249 446,409
i 31(a) (91,284) (536,351)
(60,035) (89,942)
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